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Note : Attempt any two questions from Section-A 
and any five questions from Section-B. 

Section—A 
Note : Answer in about 500 words each. 20×2=40 

1. Discuss the growth accounting approach in 
measuring the total factor productivity.  

2. Compare the industrial structure of India and 
China. 

3. Explain the measures taken in the industrial 
policy in the 1980’s for industrial promotion in 
India. 

4. Discuss the role of the Board of Industrial and 
Financial Reconstruction (BIFR) in promoting 
the industrial sector in India. 
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Section—B 

Note : Answer in about 250 words each. 12×5=60 

5. Explain the significance of MSME’s in India. 
What are the constraints that they face ? 

6. Analyse the industrial growth process in the 
pre- and post-reforms period in India. 

7. What are the causes and impact of Industrial 
Sickness in India ? Explain. 

8. Discuss the progress of Indian industrial sector 
under the five year plans of India. 

9. Outline the welfare provisions in the 

Unorganised Workers Social Security Bill of 
2006. 

10. What is the significance of Sargent’s theory of 
industrial location ? 

11. Explain the concept of jobless growth.  

12. Examine the impact of Foreign Direct 
Investment on the Indian economy. 
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      BECE-107 

Lukrd mikf/ dk;ZØe (ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2022 

ch- bZ- lh- bZ--107 % Hkkjr eas vkS|ksfxd fodkl 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % Hkkxµd ls fdUgha n k s iz'uksa ds mÙkj yxHkx  

500 'kCnksa (izR;sd) eas nhft,A Hkkxµ[k ls fdUgha 

ik ¡p iz'uksa ds mÙkj yxHkx 250 'kCnksa (izR;sd) esa 

nhft,A lEiw.kZ iz'u&i=k eas mÙkj nsus dk ekè;e 

,d tSlk gksuk pkfg,A 

 Hkkxµd  2×20=40 

1- fodkl ys[kkadu n`f"Vdks.k dh O;k[;k iw.kZ miknku 

mRikndrk dh jks'kuh eas dhft,A 
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2- Hkkjr vkSj phu dh vkS|ksfxd lajpuk dh rqyuk 

dhft,A 

3- vkS|ksfxd fodkl ds fy, Hkkjrh; vkS|ksfxd ;kstuk 

1980s esa D;k mik; fd, x, \ ppkZ dhft,A 

4- Hkkjr esa vkS|ksfxd {ks=k dks c<+kok nsus ds fy, 

vkS|ksfxd vkSj foÙkh; iqufuZekZ.k cksMZ dh Hkwfedk dh 

ppkZ dhft,A 

 Hkkxµ[k 5×12=60 

5- Hkkjr eas lw{e] y?kq vkSj eè;e m|e dk D;k egRo 

gS \ buds D;k izfrca/ gSa \ ppkZ dhft,A 

6- Hkkjr esa vk£Fkd lq/kj ls igys vkSj ckn ds dky esa 

gq, vkS|ksfxd fodkl dh izfØ;k dk fo'ys"k.k 

dhft,A 

7- Hkkjr esa vkS|ksfxd chekjh ds D;k dkj.k vkSj izHkko  

gSa \ ppkZ dhft,A 

8- Hkkjr dh iapo"khZ; ;kstukvksa ds varxZr Hkkjrh; 

vkS|ksfxd {ks=k dh izxfr dh O;k[;k dhft,A  
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9- vlaxfBr Jfed lkekftd lqj{kk vf/fu;e] 2006 ds 

varxZr dY;k.k izko/kuksa dk :ijs[k.k dhft,A 

10- lktsZUV vkS|ksfxd LFkkuh;dj.k ds fl¼kUr D;k gaS \ 

ppkZ dhft,A 

11- jkstxkjghu fodkl dh vo/kj.kk dh O;k[;k dhft,A 

12- izR;{k fons'k fuos'k dk Hkkjrh; vFkZO;oLFkk ij D;k 

izHkko gS \ ewY;kadu dhft,A 
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